Databases 1 (DBS'20)
TD : XPath

Q1.

Find any employee whose salary is less than 15000
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Q2.

Find employees who work in Lille
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Q3.

Find employees who work in Paris and earn less than 20000
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Q4.

Find employees hired in the 21st centry (hint: use substring function)
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Q5.

Find any employee that has at least two direct subordinates
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Qeé.

Find any employee that has more than 3 direct or indirect subordinates
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Q7.

Find any employee that earns more than their direct supervisor
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Qs.

Find any employee that earns less than one of their direct or indirect subordinates
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Qo.

Find any employee that earns less than all of their subordinates

[Line count: 1]



